K-SR
NF—=RK2y7

ISR B P
iR Ak
HME
SHBHE

TR @ ~JE-b
HAEERR @ AIAKEHAS

= = = KRS TIRHIER
— R

R B PRESNPELRE -~ $hil

(] KRR

X BEDWKEFR

BIKE

B 5.0miLE
P 3.0m~5.0m*&iE
I 20m~30mkH

HESEOSR) B fE IR PR A
1.0m~2.0mz AUEFIDERE +HE Hig ) Ij & (E RS A R
0.5m~1.0mski A HRIERE A R /‘\ g | L WTCUBRER  s=1a5000
05mkH BRE BR[| == 75 R S—

5

RIS T V8~ | F

¥
eefsi()

DR

Pl SErERa=npas—

X

.-_qG'/
L YL

_M’! _';7

BKFDER

510mLAZE

0.5~1.0m*E#&
0.5m3ki&

T

AlEAICE D AR EAsE (5H) R 3JHs 766 @



- ¢eengn TSR R & ~UR—F = = n KTRERETRHIXA kiR BRI s fERREFR A
;ﬁ’k'ii’» ﬁ =] iR 2 HRIEERRE @) AIBESAAS — R B 5.0miE 10m~20mk# | 2EHOBEE | LBA gAY e
] \-Ua’_ |\ 7Y 7 HIHE [ FERERRIRRT PRESNPELRE -~ $hil I 3.0m~5.0m3iE 0.5m~1.0msk A BRI A R F\ wmxhy | L UIVERER  s=115000
SRR ) KATEARR X SBEDRKERR I 20m~3.0miE 0.5makiE BRI BRIXE = R
AQ)

#Fnedt/| \—?Jliy:

e

=KFOER

5I0mEEE

1.0~2.0m*k

0.5~1.0m*

wE RKDAER
B3:6204F 9 DB THIIBIT RS
Mot #91.5mik LTz




a <¢¢ g LSRR Bx @ ~JE-b = = n ATERE TSI BKGE SRR B R ik fERRER
;#7]0:':5’9 ﬁ =] TR - PR WRIEERR @ ANBEKEHAS — RS B 50milE 10m~20m*k# | SENMOBEE | TER HIFAY e A

] \-Ua’_ |\ 7Y 7 EBHE [+ AR ERRT PHBEHNELRE, = 8 I 3.0m~5.0mskik 0.5m~1.0mzk:% BRERRS BRBME /‘\ S [ |sg~ummaiEp  s=1:15000
SH B L KEARR X BEDRKERR I 2.0m~3.0miE 0.5mak SR BRI = S
C !10'

=KFOER

5'0mE

1.0~2.0m3kiH

0.5~1.0mz*k%
0.5m*ki#%

“ﬂﬂg/ﬁkg‘j <E lifﬂfihﬁﬁw (@FH) R3JHs 766 @



